[ Efficiency vs vertpos |
~ 0.8

w """""" o

0.

o
&)

efficiency vs ver

0.3

IIIIIIIIIIII—L{.—I?
—_——

==

-

+:3:5

gl

—@:é_:.

S

1 S T . S—

Ratio

DL e -

=
r— —

0.95L ;
1072 10 1

10 0?
TP vertr (cr%)

11 _ornigmal
|_TT_newbranch

TT original_pLess
TT _newbranch_plLess

<4

DQ
DQ
Efficiend —— B3

~N 1.2

efficiency vs ver

Ll
]

Ratio

0-95; 10 2030

TP vert z (cm)

[ Efficiency vs. sim PV z |

S L S At S S S S

efficiency vs Sim. PV z

057215 210 -5 0

Sim. PV z (cm)



	Contents
	Page 1


